ELHRS Bicb A H

me L (Yy kL) 2%

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3lEfIcm3TT 5,

@ JeptirzsmrEszLed,

| cm3 =DmL

Im3=[ ]L

2 ~T5m. BAm. BI2.5mOEHROHELAMITT b
Fr, ALTIT A,

%% ( m3) - ( L)

@ HEF EE* @““5?“5@3%@%@



BIZE : A H
23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3lEfIcm3TT 5,

E29

100X 100X 100= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLed,

| cm3 =[DmL

Im3=[ | 000 ]L

2 ~T5m. BAm. BI2.5mOEHROHELAMITT b
Fr, ALTIT A,

X: B X4 X2.5=50 m3

2 (. 50 m3) - ( 50000 )

@ b B % @i g ? 5@3% @hz





